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解得[image: image58.png]0ex<2



.
所以[image: image59.png]F(x)



的单调增区间是[image: image60.png](2,+00)
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由[image: image63.png]F(x)=0
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；由[image: image65.png]S(x) <0
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所以[image: image67.png]F(x)
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上单调递增，在区间[image: image69.png]
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取得最小值，[image: image72.png])
S



.
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22. 【解析】解：（Ⅰ）[image: image81.png]F(x=lnx+1
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，    
由[image: image83.png]F(x=0
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是函数[image: image89.png]f(x)



的极小值点，极大值点不存在.          
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为递减函数，
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为递增函数.     
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为递增函数，
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最小值为[image: image126.png]


；当[image: image127.png]l<a <2



时，[image: image128.png]g(x)



的最小值[image: image129.png]2-1



；当[image: image130.png]


时，[image: image131.png]g(x)



的[image: image132.png]


最小值为[image: image133.png]a+e—ae



. 
_1461610385.unknown

_1461610409.unknown

_1461610439.unknown

_1461610332.unknown

